3.7 Part] Multiplying Polynomials

Practice Expand.

Expand.. . 7602 -45-9) 8. —4(37: —-t-1)

1. 22(3x—4) 2. 3a(4a - 3b) 19, —(4m’ —m—7) 20. 797 = 3y~7)

3. ~4x(S5—1) 4. —x(2x" ~ Tx) 21 520 +3y-y) 22 Y2y’ +3y-1)

5. 7}' Gy-1) 6. 30 (i’ — 67m) 23. -6’35 —6x—9)  24. Zzzb (4a’b - ab + 3ab)
7. Gx-1)2 8. (40+3)(54) 25. abe(3a+4b-2)

9. (1-6)-3) 10. (&’ - 3x)(~4x) Expand and simplify.

Expand and simplify. 28. Ja(x—4) —x(x+5) - 2x(x 1).

11 2(x—4)+5(x +3) 12. 3(m—3)—6(n—7)  21. 4a(a+3b)+262a-b) - 6(a-b)
18 4Qx—7)-S(@x+9)  14. 5Gt-T)-(dt+1) 28 2x(x’—3x—4)-3x(4’ - x+5)
15. 4x+3(2x— 5) + 6(1 — 5%) 29. 3y(y —y~1)~2y(3y’ - 6)

16. 8(1 -3y -4 +2(8y-7) 30, 3525 + st — 1)~ 145 —st+ 38)

Al

{ 32. @) Explain
how the diagram

illustrates the
product (x + 4)(x + 5).
i) State the product
in simplified form.

Find each product.

32. (t+5@+4 33. (m+4m+1)
34, (x-3)-9b 38. (w—-7)w-198)
36 (x—DE-9 37. (y-9N(y+7)
38 (s+1)i-4) 39. (a-Ha-9)
40. (4+x)(7 -%) 4. 2-p3 -7y
22, (x+7)x+7) 43. (b-8)+8)

0 24. @) Explain 2X +y
how the diagram o
tlustrates the 3x| - 6x? E 3xy
product o
(2x +5)Bx + 2y). P PRI T
B) State the product ' R .
in simplified form. 2| Ay | 2y
Eexpand and simplzfy. ——

&8, (x+3)(Bx+1) 8. Ba+5)a+49)

&7. (y-3)4y +9) a8, (S —2)m~4)

483, Bx-49(3x-9 80. (1-65)(4+ 52)

i, 3a-5@Ba+5) 82. CGr+y)x+4y)

83. (40-b)(Qa-5b)  54. (Sm-+ 2n)(4m.—31)
58, (-’-r.v 3)(5s-61)  86. (7o+8h)a-b)

57. (2x' — 'cy)(x =3xy) 88. (-3a+4b)(2a+3b)

Etpmzd and simplify. 2
9 +6)x+dH+E+DE+3) 68. (3x-4)
w- (7-3y-D-(y+2)y~-6) : .
61 (2ic— 3+ 5) + B + 4 (e + 1) 9. (5a+2)t -20+7
82, 3(b-7)4~6)
83, 2(m+3)@z+ 5) +4Q2m +3) 70. x - 3( x+2)2

84. 3(x-A)(x+3)-2(4x-1)

88. 53t-4)(2z-1)~(6t-5)

8€. 2Qx+2)(3x+2)-3@2x~1)(2x - 1)
87. 122Gy -2)By+2) - 2y +5)(2y + 5)



P

Answers

aETtiCE 161 — 8x 2. 1242 — Yab 3. --20s5t+ 41-’

4.2 +7x 8. 6_-;:’—7)r- 8. =3ur*+ 18w 7. 6x —

12,
i6.
19,
23.
23.
25,
27.
29.
31.
34. x

. 37.
40.
43,
46.
49,
52,3
54,
5¢€.
5S.
&1,
63.
65.
57.

68.
69.

1.

8204 + 152 2. -3 + 18y 10. 4% + 1227 11. /1:+7

~3m+33 13.-12x - 73 14. 11236 15. ~20x 9

—10—8y 17. 184 —24h— 54 18, —12” + 42+ 4 -

~4m? +m+7 z6. 63_)"—71';'—19

—10x" — 15xy + 59 22. 8y + 1297 — dy

=182+ 365 + 542 24. 84°F - 20470 + 64l

3a°be + 4ab’c — 2abc® 26.—15x

Gg? + 16011 20—~ 64+ 6b 28. 102 = 312 ~23x

=3 —J_')l'+9_‘)l_ 30. 65 — 5t — 252 — 37

h)r’+9.v+20 2.7 +9t+20 33. 22+ S+ 4
F—T7x+12 35, — 15w+ 56 36.22-8x+ 16

¥y —2y—63 38.°~35—4 30.4°— 134+ 36

28 +3x—at 81. 6~ 5y+9y* 42 1:-+141.+-l-9

b* — 6444, B) 622 +71.'y+7y' 45.3x> + 10x +3

30° +174+20 47.4y ~ Ty — 15 48. 5 — 22 + 8

92— 24x + 16 50.4— 19t — 3082 B1. 94 — 25
327 + 13xy + 4y 53. 84 — 22ab + 5b°

207" — Tann — 61* 85. 205 — 3952 + 182

74* + ab — 8b* 57, 2 —71.~'y+3\.-_)r-

—6a* —ab+ 125* 59, 22 + 15+ + 30 e0. 15

1422 +26x - 11 62.312~39h+ 126

29 +24m + 42 648,322 — 11xr—34

3082 —61t+25 66.62° +36x+5

=229~ 20y—-5 :

9 - 24x + b
2502 +18a + |

-3xE-ix =12

-



